
Spiel 1 Spiel 2 Gesamt

Spiel 031 18:51 A 1 RAFFETSEDER Siegfried 63 + 56 = 119 # #

A 2 KÜLLINGER Andreas 45 + 56 = 101 #

Spiel 032 18:59 A 3 KÄFERBÖCK Roman 66 + 52 = 118 # O #

A 4 STOLZ Leopold 68 + 50 = 118 # O

Spiel 033 19:06 A 4 STOLZ Leopold 56 + 59 = 115 #

A 1 RAFFETSEDER Siegfried 52 + 53 = 105 # #

Spiel 034 19:15 A 2 KÜLLINGER Andreas 47 + 59 = 106 # #

A 3 KÄFERBÖCK Roman 47 + 56 = 103 # #

Spiel 035 19:22 A 2 KÜLLINGER Andreas 59 + 60 = 119 # # #

A 4 STOLZ Leopold 56 + 55 = 111 #

Spiel 036 19:30 A 1 RAFFETSEDER Siegfried 52 + 52 = 104 O

A 3 KÄFERBÖCK Roman 50 + 56 = 106

Spiel 037 19:39 A 1 RAFFETSEDER Siegfried 53 + 64 = 117 # # # O #

A 2 KÜLLINGER Andreas 48 + 58 = 106 O # #

Spiel 038 19:47 A 3 KÄFERBÖCK Roman 63 + 46 = 109 O # #

A 4 STOLZ Leopold 63 + 54 = 117 O O

Spiel 042 20:20 A 4 STOLZ Leopold 55 + 49 = 104

A 1 RAFFETSEDER Siegfried 48 + 65 = 113 # # O

Spiel 041 20:12 A 2 KÜLLINGER Andreas 56 + 50 = 106

A 3 KÄFERBÖCK Roman 62 + 48 = 110 O #

Spiel 040 20:04 A 2 KÜLLINGER Andreas 60 + 51 = 111 #

A 4 STOLZ Leopold 57 + 58 = 115 # #

Spiel 039 19:55 A 1 RAFFETSEDER Siegfried 55 + 54 = 109 O #

A 3 KÄFERBÖCK Roman 52 + 61 = 113 # # # #


